Potencias de 10 (C)

2.2587+10

2.6228 =10

5.262+10

6.4828 =10

1.0636 =10

5.337+10

8.3103 =10

1.2424 + 10

6.6031 =10

1.1455+10

Calcule los siguientes cocientes.

8.5199 +10

6.2737+10

2.7169 =10

6.0527+10

4.4405+10

4901710

1.8768 =10

7.7844 =10

4.6538 10

4.0137+10

MatesLibres.Com




Potencias de 10 (C) Respuestas

2.2587+10
0.22587
2.6228 =10
0.26228
5.262 =10
0.5262
6.4828 =10
0.64828
1.0636 =10
0.10636
5.337+10
0.5337
8.3103 =10
0.83103
1.2424 + 10
0.12424
6.6031 =10
0.66031
1.1455+10
0.11455

Calcule los siguientes cocientes.

8.5199 =10
0.85199
6.2737+10
0.62737
2.7169 =10
0.27169
6.0527 =10
0.60527
4.4405+10
0.44405
4901710
0.49017
1.8768 10
0.18768
7.7844 =10
0.77844
4.6538 =10
0.46538
4.0137+10
0.40137
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